MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

DAB Door Company, Inc.

12195 NW 98" Avenue

Hialeah Gardens, FL 33018

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: 16°-2” Wide x 16 High Steel Sectional Garage Door w/ Window Lite Option

APPROVAL DOCUMENT: Drawing No. 98-05, titled “Sectional Garage Door”, dated 02/23/98, with
Revision F dated 01/06/10, sheets 1 through 5 of 5, prepared by Al-Farooq Corporation, signed and sealed by
Arshad Viqar, P.E., bearing the Miami-Dade County Product Control renewal stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 09-0128.01 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 10-0216.03

Expiration Date: July 21, 2015

MIAMEDADE COU

3/,0 /0 Approval Date: March 31, 2010
1)

Page 1



DAB Door Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS

1.

Drawing No. 98-05, titled “Sectional Garage Door”, dated 02/23/98, with Revision F
dated 01/06/10, sheets 1 through 5 of 5, prepared by Al-Farooq Corporation, signed
and sealed by Arshad Vigar, P.E.

B. TESTS

1.

Test Report on Large Missile Impact Test and Cyclic Wind Pressure Test, of
“Sectional Residential Door with Windows” prepared by Hurricane Engineering &
Testing Inc., Test Report No. HETI 03-1328, dated 07/15/03, signed and sealed by
Rafael E. Droz-Seda, PE.

Test Report on Uniform Static Air Pressure Test, of “Sectional Residential Door”
prepared by Hurricane Engineering & Testing Inc., Test Report No. HETI 03-1329,
dated 07/15/03 signed and sealed by Rafael E. Droz-Seda, P.E. '
Test Report on Tensile Test per ASTM E-8 of “Sectional Residential Door (skin)”
prepared by Hurricane Engineering & Testing Inc, Test Report No. HETI 03-T078,
dated 10/31/03, signed and sealed by Rafael E. Droz-Seda, P.E.

“Submitted under NOA # 05-0217.02”

Test report on Salt Spray (Corrosion) Test per ASTM B 117 of a painted G-40 steel
panels, prepared by Celotex Corporation, Test Report No. 258592, dated 08/17/98,
signed by W. A. Jackson, P.E.

“Submitted under NOA # 03-0210.04”

C. CALCULATIONS

1.

Anchor verification calculations prepared by Al-Farooq Corporation, complying with
F.B.C 2007, dated 12/18/08, signed and sealed by Humayoun Farooq, P.E.
“Submitted under NOA # 09-0128.01”

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO)

Carlos M. Utrera, P.E.

Product Control Examiner
NOA No. 10-0216.03
Expiration Date: July 21, 2015
Approval Date: March 31, 2010



DAB Door Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS

1.

2.

Notice of Acceptance No. 08-0305.02, issued to SABIC Innovative Plastics, for their
Lexan Sheet Products, approved on 04/24/08 and expiring on 07/17/13.

Notice of Acceptance No. 07-1016.07, issued to Insulfoam, LLC, for their
Insulfoam Expanded Polystyrene Insulation, approved on 11/29/07 and expiring on
11/29/12.

Notice of Acceptance No. 07-1107.08, issued to Dyplast Products, LLC, for their
Expanded Polystyrene Block Type Insulation, approved on 02/28/08 and expiring on
01/11/12.

Notice of Acceptance No. 07-0301.10, issued to Dyplast Products, LLC, for their
Dyplast ISO-C1 Polyisocyanurate Insulation, approved on 06/07/07 and expiring on
01/11/12.

F. STATEMENTS

1.

2.

Change of engineer letter issued by Al-Farooq Corporation, dated 01/08/ 10, signed
and sealed by Arshad Vigar, P.E.

No change to product letter issued by DAB Door Company, Inc, dated 02/09/10,
signed by Roseanne Berger.

Statement letter of code conformance issued by Al-F arooq Corporation, dated
12/04/08, signed and sealed by Humayoun Farooq, P.E.

Statement letter of no financial interest issued by Al-F arooq Corporation, dated
12/04/08, signed and sealed by Humayoun Faroog, P.E.

“Submitted under NOA # 09-0128.01”

Carlos M. Utrera, P.E.

Product Control Examiner
NOA No. 10-0216.03
Expiration Date: July 21, 2015
Approval Date: March 31, 2010



- (@)
PUSH NUT ;(T)EELF”;,TURE >-1/2 X 273/4° X 0.1 OPTIONAL DOOR VIEWER ku S
L . 2 LATE WiTH ONE 5/16-18 MS W/ NUT o BE INSTALLED AT 2
) 7-1/2" X 3" X 071 9
/ FASTENED TO END STILE WITH ANy CENTER STILE m 1
GALV. STEEL END ROLLER HINGE—/1- (6) #14 X 3/4" SELF DRILLING SCREWS S ®
o W/ (6) #14 X 5/8" SMS 00 / - w|S
w
] ]
‘ ] . H CENTER STILES s - 0.~ 212
® " " oot ' e r -7 &l
7-1/2" X 2-1/4" X 18 GA. y SEE SCH. Aw = & ol
GALV. STEEL CENTER HINGE | <z S
o W/ (4) §14 X 5/8" SMS o 8 —~ / | o 3
Y| . 0 )
LOCK | . > *
2/ DOOR / ‘ = & iy <
7 - o - <
7 ] Q
NB F TR ~
l =2
= ; ] i b1 Og %
; \/ / \/ | °! 8 u>J m 8
" L5 <«
1" W X .15 THK. LATCH ] i (LD [ /- 1 I il [ J 5 83:9§
, = 2 T
**ﬁ——* | ] 1\! LI IJ l l\i LI l 'Ll——vﬂj—*ﬂ w®g o
SPRING LOADED SLIDE BOLT LOCK (BOTH SIDES) o : ' , . . 58 83 ot
FASTENED W/ (4) #14 X 1/2" SM.S. . W \/ ] /) | 8 o o dio |.|I. Zhs @
5/8" MiN. LOCK ENGAGEMENT CONFORMS TO ﬁ—ﬂ m———ﬂ 2 L2ldo0g
FBC 1012 REGARDING GARAGE DOORS I ] i LI i In f | || = B 58| < zoZ @
T T T - a L — I\
I == | I==JI==] [ =2 = =2 =) B |lS—=
. . o
7 Y 7 i =L 18 uE
® A= ) | W] et W/ S — |V S — —_—— e wlg ol
.158 DIA. GALV. AIRCRAFT TYPE : = NV | =V == = g @
CABLE & NICO-PRESS SLEEVE BN s e — | x| || |T— = | PY——= L
W/ MIN. 5 TO 1 SAFETY FACTOR NS — == i = S
e — _—— T % = e R s S ——— - 0
- —— = = e = - — @
—_— | || i — —
- - » — B = = = — e = — e ——————— e Q [®)
ERRX = Y L= === sl &
STEEL PLATE ; Ex £ 3 a L
WITH (4) #14 X 3/4" ; | o W™
SELF DRILLING SCREWS \ | . & <
. . & s d I .o«
BRACKET BRACKET TN \ | | I|ZFg 3
STD. LIFT DOOR LOW HEADROOM 1 i , X S o2 e
DOOR OPTION = = T T : S I T =22 <_(, noao |
DOOR HEIGHT CONSISTS OF N // | ZIE ; % ucq,
6'-6" |2 SECTIONS 18"[2 SECTIONS 21° ;T—E7E{8PL>;TZE‘)—1/8 X .010 u OPTIONAL VENTS OPTIONAL FLUSH FACE L oa Q 8 06
os|r ot i s oo e % i S ot ocua 5 8%z 3
T - OPNG. AREA NOT TO EXCEED 120 SQ. IN. MAX. DOOR WIDTH P lg B 3
7'-6" 5 SECTIONS 18" |- CENTER STILE 16'-2 g o~ % E
7'-9" 4 SECTIONS 18"{1 SECTION 21" DAB DOOR MODEL 824
8 3 SECTIONS 18”[2 SECTIONS 21 OUTSIDE END STILE INSIDE ELEVATION 5" WIDE X 16'-0" HIGH| |T8—"=7
8-3" 2 SECTIONS 18"|3 SECTIONS 21" HANDLE RAISED PANEL EMBOSSED DOOR MAX. SIZE 16 -2 W - —
8-6" 1 _SECTION 18" |4 SECTIONS 21" 24 GA. ROLL FORMED STEEL
8'-9" 5 SECTIONS 21" |- »
9’ 6 SECTIONS 18" |- IN = + 48.0 PSF a & 2l a
9'-3 |5 SECTIONS 18" |1 SECTION 21" LOCK BAR GUIDES DESIGN PRESSURE RATING t e par 8 13158
96" |4 SECTIONS 18”|2 SECTIONS 21" m?TA'-(l;“:)D#?’: )E(Ng/gI"-ng . NEEEE
Dy W » H c Galelvo
BT e o 2, THIS PRODUCT IS RATED FOR LARGE MISSILE IMPACT 01212181,
2 SECTIONS 18" |4 SECTIONS 21 18T X .6W LOCK BAR a§ Poe|z
10'-3" 1 SECTION 18" |5 SECTIONS 21" ENGAGES IN TRACK GENERAL NOTES SEMHARE
— > =2LUOLRAL LY 22 .
10-6 18 SECTIONS 21 : ON EACH SIDE OF DOOR __ centeR STILES SCHEDULE 'A L. THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO cOMPLY witH THE || |12 18|58
1097 B SECTIONS 18 Ih-StCTion 21 CENTER STILES CONFIGURATION REQUIREMENTS OF THE FLORIDA BUILDING CODE 2007 EDITION INCLUDING || [0/5|8(8 (5|5
1 5 SECTIONS 187[2 SECTIONS 21" NTE L NFIGURATI
— - : QUTSIDE_KEYED LOCK HIGH VELOCITY HURRICANE ZONE. N
11'-3 4 SECTIONS 18" |3 SECTIONS 21 - DOOR WIDTHS # OF CENTER STILES 5 ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS -0
116" |3 SECTIONS 18" |4 SECTIONS 217 LOCK BAR LOCKING SHOWN -0 70 9-10" 2 . . Nul-Totataras
=0 |2 SECTIONS 18715 SECTIONS 2171 ALTERNATE TO LOCKS SHOWN ABOVE u@ M ﬂEUJ Q 0" TO 11107 3 Sggggﬁceggzgm%% .TO BASE MATERIAL SHALL BE BEYOND WALL |g %,2 HHEE
12’.33,. ; :Eg:g:: ;? & SteToMs 2] L 8'-0" 70 9'=10" _i :f.:gn ig ::.::g.. i ALL BOLTS, NUTS AND WASHERS SHALL BE ZINC PLATED CARBON STEEL. % '; HEEEE
12-6"___ |6 SECTIONS 18" |2 SECTIONS 21 , 500R WIDTHS ! 15-11" 10 16-2" 5 ANCHORING OR LOADING CONDITIONS OTHER THAN THOSE SHOWN IN |ISig[®[@|ejw i
12-9" |5 SECTIONS 1873 SECTIONS 21" THESE DETAILS ARE NOT PART OF THIS APPROVAL. | C——
13 4 SECTIONS 18" 4 SECTIONS 217 - : S. A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. | «
1553 sections 1e7[5 ctows 21° | o | e e TR 1l s
- # # # cmL ) z
139" |1 _SECTION 18" |7 SECTIONS 21" PRODUCT RENEWED & e
- . FLA. PE # 38863 _ 3 .
14 8 SECTIONS 21" |- 10'-0" 70 11'-10" 14'-0" T0 15'-10 C.AN. 3538 os complying with the Floride e
14'-3" 6 SECTIONS 18”13 SECTIONS 21" DOOR WIDTHS DOOR WIDTHS ' Building Code 221603 % 2 i
14'-6" |5 SECTIONS 18" |4 SECTIONS 21" Acceptance No /L0 < 0 5 )| S
14'-9" |4 SECTIONS 18" |5 SECTIONS 21" . | } r [ Expiration Dy 7121 [eL —
15 |3 SECTIONS 1876 SECTIONS 21" e | o O e o Grawing o,
15'-3" 2 SECTIONS 18" |7 SECTIONS 21" — i
156" |1 SECTION 18" |8 SECTIONS 21" f ' JW z“‘k Product Control 98-05
15'-9" |9 SECTIONS 217 |- L 12'-0" 70 13'-10" _| L 15'-11" 10 16'-2" _l ) Divsie
16' 6 SECTIONS 18" |4 SECTIONS 21° ' DOOR WIDTHS b DOOR WIDTHS JAN 0 & 2010 sheet 1of 5




TION
REINFORCING

16 GA. X 2-1/4" X 3/4" X 2"

GALV. STEEL U.BAR REINFORCING TRUSS
- @ TOP OF PANEL TRUSS FASTENED TO

VERTICAL INTERMEDIATE STILES W/ TWO

#14 X 5/8" SM.S. AND TO END STILE

W/ FOUR #14 X 3/4" SELF DRILLING S.

16 GA. X 2-1/4" X 3/4" X 2"

GALV. STEEL U.BAR REINFORCING TRUSS
@ BOTTOM OF PANEL TRUSS FASTENED TO
VERTICAL INTERMEDIATE STILES W/ TWO
#14 X 5/8" S.M.S. AND TO END STILE
W/ FOUR #14 X 3/4” SELF DRILLING S.

BOTTOM SEAL
.058 ALUM PLATE

WITH 1/8" X 1" S.M.S. @ 48" 0.C.
AND RUBBER WEATHERSTRIPPING

QTTOM

OPTIONAL STOP MOULDING
BY DOOR INSTALLER

STEEL TRACK BRACKET FASTENED
TO WOOD JAMB WITH

5/16" X 1-5/8" LAG SCREW
(FULLY THREADED)

HEX WASHER HEAD TYPE A

SOUTHERN PINE
0.55 SG.

|

T

1-3/16"

1.9" X 2,19" X 3.3" x .090”
STEEL TRACK BRACKETS —
SEE SHEET 3 FOR SPACING

2-1/8" X 1" x .078"

GALV. STEEL TRACK

FASTENED TO TRACK PLATES
W/ 1/4-20 X 5/8" TRUSS HD.

1/2" X 1-3/4" X 16 GA.
OPEN TUBE
@ TOP & BOTIOM ™\

OF EACH PANEL

__#14 X 5/8" SMS
6 PER HINGE

INTERMEDIATE SECTIONS
REINFORCING

1/2" X 1-3/4" X .058" FORMED STEEL

~GLUED TO PANEL AND SECURED TO

END STILE WITH (4) 3/16" POP RIVETS
1-7/8" X 2-5/8" X .049" STEEL

( 4/ HINGE

W/ FOUR # 14 X 3/4" SELF DRILLING SCR.

16 GA. X 2-1/4" X 3/4" X 2"

16 GA. X 2-1/4" X 3/4" X 2"

A GALV. STEEL U.BAR REINFORCING TRUSS -
TRUSS FASTENED TO VERTICAL INTERMEDIATE STILES

v W/ TWO # 14 X 5/8" SM.S. AND TO END STILE

JOP SECTION

~CENTER STILE, GLUED AND RIVETED
TO PANEL W/ (4) 3/16" RIVETS

POP RIVETS

# 14 X 5/8" SM.S.

REINFORCING

3/4" X 2" X 2-1/2" X .049" STEEL
__END STILE, CONNECT TO PANELS WITH
FLAPS AND (5) OR (6) 3/16" ALUM RIVETS
SEE DETAIL ABOVE

EDGE _ _
DISTANCE

v ef1=3/16f

D

‘o id

A e——— oo
A
A

/

]

SLOTTED M.S. & LOCK NUT

- o
A u -
= 1 1 1 U J Z = ]
——.——1 = 7 4 ; \f Lo 2= [_—
1 1
iR —1 ¢
i I hnd
) 7-1/2" X 050" | |NTERIOR SID
M GALV. STEELJ : SIDE 7-1/2" x .071"_|
7/8" PUSHNUT CENTER HINGE END ROLLER HINGE
INSTALLED ON ROLLER SHAFT SECTION B-B 1 82" DA

FLAPS BENT OVER PANEL*\

1/2" PUNCHED HOLES /|
@ 4" 0C.

GALV. STEEL U.BAR REINFORCING TRUSS

TRUSS FASTENED TO VERTICAL INTERMEDIATE STILES
W/ TWO # 14 X 5/8" SM.S. AND TO END STILE
W/ FOUR # 14 X 3/4" SELS DRILLING SCR.

3/16" POP RIVETS

AT 4" 0.C.
(6) FOR 21" STILES
(5) FOR 18" STILES

24 GA. STEEL PANEL

e

a

AR A R A R AR A

/)‘
] e
[ P SN
I
\\ o
—END STILE

( .024" STL. PANEL

===\ OUTSIDE OF DOOR

———

it
JIUATESE
iy

OLl

1

BRASS DOOR VIEWER

BY 'SCHLAGE SECURITY HARDWARE'
INSTALLED IN 9/16" DIA. HOLES IN CENTER STILE
POSITIONED AT EYE LEVEL

3/8" POWER-BOLT BY 'POWERS'
2" MIN. EMBED INTO CONC.
2" MIN. EDGE DIST.

ONE PER BRACKET
SEE SHEET 3 FOR BRACKET SPACING

= 1/4-20 SS BOLT
& NUT

X .50" STEEL ROLLERS
W/ .44 DIA. X 5" STEM

Engr: ARSHAD VIQAR
CiviL
FLA. PE # 38863
C.ANN. 3538

JAN 6§ 2010

PRODUCT RENEWED

f
C

GARAGE\98-05DAB )

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

ﬂ[

SECTIONAL GARAGE DOOR
DAB DOORS INC.
HIALEAH GARDENS, FL. 33018

12195 N.W. 98 TH. AVE.
TEL. (305) 556 — 6624

i

|

)

REV. PER BCCO COMMENTS
ENGR. NAME CHANGED

UPDATED FOR 2007 FBC

GENERAL REVISION

by [description

10.24.03
12.10.08

D {05.20.05

E
\_F _{01.06.10

C

(revisions:
no| date

|

02-23-98
by: HAMID

date:

chk. by:

dr.

0
drawing no.

98-05
-
sheet 20of 5




21" PANEL

POP RIVETS

2-3/4" X 5-1/2" x 3" X .104"

GALV. STEEL
TOP ROLLER BRACKET (DOUBLE)

.090 THK. GALV. STEEL ADJUSTABLE

W/ 5/16-18 X 3/4" HEX HEAD
M. SCREWS & NUTS.

HORIZONTAL REINFORCEMENT

1/2" X 1-3/4" X .058" FORMED STEEL
GLUED TO PANEL AND FASTENED TO
VERTICAL STILES WITH

(2) 3/16" POP RIVETS

HORIZONTAL REINFORCEMENT

1/2" X 1-3/4" X .058" FORMED STEEL
GLUED TO PANEL AND FASTENED TO
VERTICAL STILES WITH

(2) 3/16" POP RIVETS

5/16" MEETING RIB

1.82" DIA. X .50" STEEL ROLLERS
W/ .44 DIA. X 5" STEM

OPTIONAL INSULATIONS:

Y 'DYPLAST PR T '
- EPS—EXPANDED POLYSTYRENE
DENSITY = 1.05 PCF
N.O.A. #07-1107.08

OR
1SO—-25 POLY-ISOCYANURATE

DENSITY = 2.0 PCF
N.O.A. #07-0301.10
OR
- BY 'INSULFOAM LLC'
DENSITY = 0.92 PCF
N.O.A. #07-1016.07

14 GA. GALV. STEEL
ROLLER HINGES FASTENED
w/ (6) # 14 X 5/8" SMS

MIN. .024" ROLL FORMED STEEL PANEL
DRAWING QUALITY G-40
MIN, YIELD STRENGTH = 39 KSI

WITH PRIMER AND BAKED-ON
POLYSTER PAINTED TOP COAT
APPLIED TO BOTH SIDES OF STEEL

12 GA. GALV. STEEL
BOTTOM BRACKET FASTENED
W/ (4) # 14 X 5/8" SMS

BOTTOM SEAL

.058 ALUM PLATE

WITH 1/8" X 1" SM.S. @ 48" 0.C.
AND RUBBER WEATHERSTRIPPING

ECTION A-A
SEE SHEET 2 FOR LOCATION
OF REINFORCING TRUSSES

FASTENED W/ (6) # 14 X 5/8" SM.S.™]

SLIDE FASTENED TO BRACKET -1

5/16" X 1-5/8" LAG SCREWS INTO WOOD OR
5/16" SLEEVE ANCHORS

WITH 1-1/4" EMBED INTO MASONRY

3 PER BRACKET

2-1/2" X 4-1/4" X 13 GA. STEEL PLATES
WELDED TO 1-1/2" X 1-1/2" X 14 GA. ANGLE
FASTENED TO TRACK

WITH (4) 1/4-20 SS. BOLT & NUTS

FASTENED W/ (4) # 14 X 5/8" SM.S.

HORIZ. TRACK SUPPORT,
CENTER SUPPORT REQD. ON DOORS
EXGEEDING 8 FT. IN HEIGHT—_

i

A=

<< : 1

HORIZ. TRACK LENGTH =

=]

OPENING HEIGHT PLUS 12"

A=

o

2" X 5-1/2" X .104"
GALV. STEEL

TOP ROLLER BRACKET FOR
LOW HEADROOM DOOR OPTION

14 GA. GALV. STEEL TRACK

2 X 2 X 1/8" HORIZ. ANGLE

SPOT WELDED TO HORIZ. TRACK

WITH TWO WELDS AT 1-1/2" APART
FIRST AT 3" O.C.

REST AT 9" 0.C.

CONNECTED TO FLAG BRACKET ANGLE
W/ 3/8-16 X 3/4" BOLT & NUT
AND TO SPRING SHAFT GUIDE WITH
(2) 1/4-20 X 5/8" BOLT & NUT

VERTICAL TRACK
2-1/8" X 1" X .080"

DOOR HEIGHT

OPENING HEIGHT
B8

B7

B6

BS

B4

B3

B2

¥

TRACK CONFIGURATION

L SECTION A-A
\
-
s DOOR | * SECTION HEIGHTS BRACKET PLACEMENTS
| HEIGHT | 1ST/2ND |3RD|4TH |5TH|  B1 B2 B3 B4 B85 B6 87 B8
= 6'-0" |18”/18" 18" 18" N/A| 1" |11-3/4"| 23" | 34" | 45" | 56" | 67" -
FL 6'-6" |21"/18" (18" 21" N/A| 1" |11-3/4"| 23" | 34" | 45" | 56" | 67" -
L 7’0" (217217 |21 [21" N/A] 1" |11-3/47" 23" | 34" | 45" | 56" | 67" -
7'-6" [18"[18" (18”18 [18"] 1" [11-3/4"| 23" | 34" | 45" | 56" | 67" 78-1/4"
J 8'-0" |217[18" [18"[18" 21" 1" [11-3/4"] 23" | 34" | 45" | 56" | 67" |78-1/4"
¥ *—SECTIONS ARE NUMBERED STARTING AT THE BOTTOM
- FOR DOORS MORE THAN 8 FT. HIGH, USE ADDITIONAL TRACK BRACKETS AT 10" O.C.
L]
1.9” X 2.19" X 3.3" X .080" I
‘\, STEEL TRACK BRACKETS A
2-3/16" HIGH
CONNECTED TO TRACK WITH
Ll“ //w) 1/4" BOLTS & NUTS.
A
\
nd
\ J
l
1
\lrL i
AL( AL % A_Z &
‘Vl
; L
I I I i
VERTICAL LIFT HIGH LIFT STANDARD LIFT LOW HEADROOM

DOUBLE TRACK

AVAILABLE TRACK OPTIONS

CiviL
C.AN. 3538

Engr: ARSHAD VIQAR

FLA. PE # 38863

JAN 6 § 2010

PRODUCT RENEWED

s complying with the Florida
Building Code .
Acceptence No -0, 03
By

Miam{'| Product Cobtrol
Divisi

GARAGE\98-05DA8 )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

|

SECTIONAL GARAGE DOOR
DAB DOORS INC.
HIALEAH GARDENS, FL. 33018

12195 N.W. 98 TH. AVE.
TEL. (305) 556 — 6624

|

)

REV. PER BCCO COMMENTS
UPDATED FOR 2007 FBC
ENGR. NAME CHANGED

GENERAL REVISION

by [description

10.24.03
D |05.20.05)
12.10.08

LF |o1.06.10

ol date

9
E

(revisions:

|

02-23~-98

=
=
<
T
ES
o

Y
©

dote:
chk. by:

2
drawing no.

98-05




WOOD FRAME BUILDINGS

STUD WALLS OR DOOR OPENING (NOT BY DAB DOORS)
SHALL BE FRAMED SOLID BY NOT LESS THAN

(3) 2x6 PRESSURE TREATED GRADE 2 SYP OR BETTER
WOOD STUDS.

STUD WALLS TO BE CONT. FROM FOOTING TO TIE BEAM.
ENGINEER OF RECORD TO VERIFY ADEQUACY OF THE
SUPPORTING STRUCTURE.

WOO K NNECTION TO MASONRY

TRACK SHALL BE SECURED WITH CONT. STEEL ANGLE TO PRESSURE
TREATED 2X6 SYP WOOD JAMBS WHICH SHALL BE ANCHORED TO
GROUTED REINFORCED MASONRY BLOCK WALL OR CONC. COLUMN WITH

1/4" ULTRACON BY 'ELCO’ WITH SPACING OF

12" 0.C. INTO BLOCK WALL, WITH 2-1/4" MIN. EMBED

9” 0.C. INTO 3000 PSI CONCRETE, WITH 1-3/4" MIN. EMBED
2-1/2" MIN. EDGE DISTANCE

1/4” TAPPER BY 'POWERS' WITH SPACING OF

8" O.C. INTO BLOCK WALL, WITH 1—1/2" MIN. EMBED

9" 0.C. INTO 3000 PSI CONCRETE, WITH 1-3/4" MIN. EMBED
3" MIN. EDGE DISTANCE

3/8" CONFLEX BY 'ELCO' OR

3/8" LDT BY 'ITW WITH SPACING OF

21" 0.C. INTO 3000 PSi CONCRETE, WITH 2~1/2" MIN. EMBED
3" MIN. EDGE DISTANCE

3/8" HLC SLEEVE BY 'HILTI" WITH SPACING OF

10" 0.C. INTO BLOCK WALL, WITH 1-1/4" MIN. EMBED, 4" MIN. EDGE DIST.
11" 0.C. INTO 3000 PSI CONCRETE, WITH 1-1/4" MIN. EMBED AND
2-1/2" MIN. EDGE DISTANCE

THE BLOCK WALL CELLS SHALL BE GROUT FILLED AND REINFORCED

WITH FOUR § 5 BARS EXTENDING INTO FOOTING AND INTO TiE BEAMS
ALL BARS SHALL BE CONTINUOUS FROM TIE BEAMS TO FOOTING.

PREPARATION OF JAMBS BY OTHERS

5/16" X 1-5/8"
LAG SCREWS
AT 11" O.C.

STEEL STRUCTURE BY OTHERS

—— MUST SUPPORT THE LOADS IMPOSED

BY DOOR SYSTEM

5/16" DIA. BOLTS
WITH WASHER & NUT
AT 12" 0.C. MAX.

i

|

I_—_—_..._ﬁ,—._
1-1/2"

1-1/4" X 2-1/2" X 14 GA
CONT. STEEL ANGLE

I

12 GA. GALV. STEEL

ANCHOR SPACING

ANCHORS STRUCTURE | EMBED [ SPACING [EDGE DIST.
3/8" HLC SLEEVE BY 'HILTI CONC. 1-1/4" 8" 2"
3/8" HLC SLEEVE 8Y 'HILTI' |FILLED BLOCK| 1-1/4" 8" 4"
3/8" DYNABOLT BY 'ITW' CONC. 1-1/2" 8" 3"
1/2" DYNABOLT BY 'ITw' FILLED BLOCK|1-7/8" 8" 4"
3/8" POWER-BOLT BY 'POWERS' CONC. " 8" 2"
3/8" SLEEVE-ALL BY 'SIMPSONS] CONC. 1-1/2"7 8" 3"

EDGE DIST.

FLAT BRACKETS +3" LONG

AT 12" 0.C. IN DOOR OPNG.
AT 18" 0.C. ABOVE DOOR OPNG.
CONNECTED TO CONT. ANGLE

W/ (3) SPOT WELDS AT EACH SIDE

ALTERNATE TRACK INSTALLATION

2-1/8" X 1" X 14 GA.

GALV. STEEL TRACK

FASTENED TO TRACK PLATES

W/ (2) 1/4-20%5/8" TRUSS HD.
SLOTTED M.S. & LOCK NUT

Enge: ARSHAD VIQAR

FLA. PE # 38863

JAN 0 8 2010

CONCRETE f'c = 3000 PS! MIN.
C—-90 GROUT FILLED BLOCK f'm = 2000 PSI

MIN.

<

1
Cc

GARAGE\98-05DAB )

a

[
|
|

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

SECTIONAL GARAGE DOOR
DAB DOORS INC.
HIALEAH GARDENS, FL. 33018

12195 N.W. 98 TH. AVE.
TEL. (305) 556 ~ 6624

(

s
L

ﬂ

|

)

REV. PER BCCO COMMENTS
UPDATED FOR 2007 FBC

GENERAL REVISION

J

ENGR. NAME CHANGED

by [description

10.24.03
12.10.08

D {05.20.05

c
E

(revisions:
nol date

LF lo1.08.10

02-23-98

=
=
<
T
E
o
~
©

date:

98-05

|

chk. by:

S ——
drawing no.

——
sheet 4of 5




WINDOW HEIGHT
D.L. OPG.
EXTERIOR

R
, 500 I‘-‘T-ESO g
* PLASTIC COMPLIES WITH . I P
1
DOOR PANEL SECTION 2612 OF FBC 2007 T
/24 GA. (.024) STEEL MIN. SEE EVIDENCE PAGE - o e
ul
[
- 0 ¢2
Z o
b= o<
1.725 g2 Nio
1.765 : o &
£ 8
" m Nt
7/16" DIA. WASHER 1144 o a é
o w
Al ) 0 § E
P
A ” 3/4“ 0 8 g
(& 48 X 3/4" SMS L,f OQgumg
\ L @ 3/8" FROM ENDS MAX. 1ot 800 o <>t§ S
Vol AND 7" 0.C. MAX. ) WDW. WIDTH o3n2 %
\ 5 x * EXTERIOR FRAME * INTERIOR FRAME go26 8
han| =g 3 18 1/8" RIGID PVC ONE PIECE INJECTION |RIGID PVC ONE PIECE INJECTION| o i3 T &
Thoy " = ¥ w .
i N (4) #8 X 3/4" SMS «|T - |O MAX, Lz%=8
() \\ ~ @ 1-3/8" FROM ENDS >;- (= D.LO M '682‘7
Hodf \ AND 6-1/2" 0.C. MAX. L|g e #z«sd
/ (||| \ ) - o / S udZ - B
LC,HF — i = = e o e == ——
o % Y 4 o I H 4 4 I 5 4
N ® 7 @) 1©7 7 7 7 7 7
RN |_.175 X .062 DEEP / 1 . »
AER GROOVE P G s P G T X : P, s SV ey e 2 > = = X =)
! A\l : A , T ©
\ P I P , ‘ ., g . } E{ ., |}1 [u ., id o) 3
[N " s ¢ Vs 4 s k V93 k o » O -
o 1/4" POLYCARBONATE LEXAN _ 7 7 dRI 7 7 L % : = = L
Vi |_BY SABIC INNOVATIVE PLASTICS " ” 11 ’ ' ‘ 1l I . * / 1 1‘“/ ’ ; Fﬂ ]lJ [;I] [t} W Z
I'l’/ NOA #08_030502 . = : Ny ) : S AR J. : = R . ) e s T . . 8 A o o S PR " (&') . .LI_
11 : o B
. < coas cara s rarueaors e d - v s rarwra < ng§
' 1 |F 1 . °l= oz 8
Ll 4 % P 7 Z : 7 iy 00 L
. 7 7 2 Z|noo
T " : g | I 40
N ’ e s ] e ClO=3 8
I : =IO =z
[ = O —~
. z = 4 ™ V i A 4 Nl L L 0 Ln:l<: :8)
L == : 11 e ) )
B % Z =] LT
% % JT] T & }g -1 ¥
Y " L i, PRI 2 e ... DS
G———
k. > x, X —E, X X el ¢ al ()
Z N q % 5 Z % b % a % % "
175 X .062 DEEP . ? s $18i0
/—GROOVE | S )\.\?} <5 . A" X 2X X P~ Z .4 e - 8 ’5 %
S é _— == == ST
_U_?E_ _ = == T T I T ) g o § 2 =]
EREE
.l < =z
(4) #8 X 3/4" SMS INSIDE ELEVATION 515158
@ 1-3/8" FROM ENDS a e (g
-3/8" F RAISED PANEL EMBOSSED DOOR WITH WINDOWS o |H=10|z
AND 6-1/2" 0.C. MAX. SIREMIE
is "erom NS 175 X ,062 DEEP I
@ 3/8" FROM ENDS : : @ 3|8|8|=
AND 4-1/2" 0.C. MAX. /_GROOVE 5% HEE
0o olwin|«~
N N 'S ~loj~|O
\\ -I / ] é\g ojiojw|uw
NN #8 X 3/4" sMS — C—
‘ @ 3/8" FROM ENDS T - B
AND 7" 0.C. MAX. r- e - 3
= e i B e ——— Engr: ARSHAD VIQAR o o
S - - - - - = T D >
N e - . . D S .. D T o o1 CIVIL 1 -
7/16" DIA. WASHER NEZ | e == = FLA. PE § 36863 § T
N o C.AN. 3538 % |l &
ot © B .
£ I
o © )
24 Gh. (024) STEEL MIN. EXTERIOR . e ——
. (. . . i no.
\DOOR PANEL 15/16" MIN. DL OPG. . AL D 2010 drowing
24 GA. (.024) STEEL MIN. GLAZING BITE JAN U © 1 98-05
WINDOW WIDTH ‘
sheet 50f S




